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1. Overall Description:

In R2-2407733, RAN2 states: 

Regarding Question 2 on time to next burst, RAN2 thinks that time to next burst may be useful for the network scheduling for downlink, if it is provided in advance and is reliable and accurate at RAN.
SA4 has studied XR traffic characteristics from the application layer perspective including time to next burst (TTNB) and is currently 

considering the feasibility and accuracy of the TTNB indication in low-latency applications for different potential TTNB definitions.
SA4 would like to know, if possible, 
more precise and preferably quantitative requirements on the accuracy of the indicated TTNB value than those provided in LS R2-2407733, because such information is essential for SA4 to select an appropriate definition of TTNB.


2. Actions:

To RAN2:
ACTION: SA4 kindly asks RAN2 to provide more precise and preferably quantitative requirements on the accuracy of the TTNB indication
, if possible.
3. Date of Next SA4 Meetings:

SA4#132
19th May – 23rd May 2024



Fukuoka, Japan

SA4#133-e
21st July – 25th July 2025



Online
�What is the current definition you refer to? Can you explicitly reference or copy verbatim in parantheses?


�Only for my clarification: was there consensus on this observation prior to this LS?


�If you want a quantitative reply from RAN2, I think you need to indicate that simply saying “reliable and accurate” is not enough. This is my proposal to highlight this


�This is logically wrong. Our goal with this LS should be to check if they can provide a more precise, quantiative requirement. We are already saying that TTNB may not be able to meet a requirement, which we don’t know how to interpret.


�“benefits” looks too general. “accuracy” is more concrete.


�It is not just ‘whether’, SA4 needs the information. We say the importance of this information, and ACTION tells RAN2 what action we expect from them.


�Question on the general approach (as it comes out of current statement): We ask RAN2 to tell us their TTNB requirements for us to come up with a better definition that meets the requirements? Wouldn’t this approach impact existing agreements (e.g., SA2's) on this feature?


�Yes to both questions. TTNB originated from SA4, and we should correct it if it is needed. 


�These types of statements are very confusing to be honest. 





Can we simply ask RAN2 to give us their requirements on TTNB accuracy? What we do with the reply and what decisions we take after in SA4 are up to our group.


�Not sure how such a statement would be interpreted


�Not accuracy of the TTNB, but of the indication.





